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a; = , S5 =
14. N, 7 AABC i, AB = BC =2, ZABC = 120°. % ABC A5
P MZkBt AC £ D, W2 PD = DA, PB = BA, WY&k PBCD
INEENGANE N PN
P
A B
15. CAIAE a, b, la| =1, |b] = 2, ZAMER RN G e, BH |a-e|+]b-e| <
V6, I a- b [YERIE R .
=. BEE
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16. £ AABC v, INf A, B, C At iYi5r 304 a, b, . BN b+c = 2acos B.

(1) {EBH: A=2B;
2
(2) % LABC WEH S = %, Rt A KA.

17. Wi, #£=tk& ABC—DEF W, i BCFE L i ABC, ZACB = 90°,

BE=EF=FC=1, BC=2,AC =3.
(1) sRiF: BF L P ACFD;
(2) KT B — AD — F (9T B AR50



AR RANEF B e

18. B4 a > 3, W% F(z) = min{2|z—1]|, 2% — 2az + da — 2},

< HE 0w, I—z +2=1(a>1). 20. BEH {an} WL |a, — “"2“\ <1,neN*
[/ a > n— *
min {p, ¢} = {p, r<q (1) sREZ y = ko + 1 BMRABIR LR (H o, k F0R); (1) EW: |ay| >32 - Y(las| — 2), n € N*;
- 2) KA Q) AMLHIHIASE 3 LA KAL) 2l < (2) 0 e N 0 ] <2, e
(1) RS F () = 2 — 202 + 4a — 2 R = T, e e A ISt SR () % loal < (3) s m e N, BEO: Jag| < 2,m
(2) @ 2k F («) (9R/ME m (a);

@ 3k F (z) X [0,6] LRI ALEL M (a). ,

N
NG
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2016 TEEEFRIBEER (IEX)

—. EEFEE

L EMLfEU={1L 2 3,4, 5 6}, 5 P={L, 3, 5}, Q=1{1, 2, 4}, Il
(CuP)uQ = ()
(A) {1} (B) {3, 5}

(€) {1, 2, 4, 6} D) {1, 2, 3, 4, 5}

2. CHEMEERFE o 6 ZTHEL [ HEL m n 2 m/a,nLp,
] ()
(A)ym /1 B)m/n (C)n LI (D)ymLn

3. ¥y =sina? WESE ()

Y Y
k1 rl
= 5o £ o] 3 ¢
(A) (B)
Y Y
rl rl
AR A
(©) D)
z+y—320,
4o EFRIKIE § 20—y — 3 <0, SRAEPIGRIEN 1 9T B, WKW
r—2y+32>20
S PAT B Y PR B Y e/ M ()
() 20 (B) v (0 22 (D) V5
5 BEfMa,b>0,Ha#1,b#1, # log,b>1, M ()

(A) (a—1)(b—1) <0
() (b—1)(b—a) <0

B) (a—1)(a—b) >0
(D) (b—1)(b—a) >0

. CHIBREL f (2) = 2% + o, W < 07R“f (f (2)) MEBUMAY [ (2) B/

TERZE"H ()
(A) FEDA DB (B) BEAFEIIEA
(C) oM EIRAE (D) BEAFEM AL

- CHIEREL f (o) Wi2: f(x) > 2| H f(x) 22", z € R. ()

B)#& fa)<2), Ma<d
(D) # f(a)y=2°, M a>b

A)H fla) <Pl Ma<d
(C) # f(a) = o], W a>b

AR RANEF B e

8 lE, s {A), (B} sERS MWL LE B Al = 15 BRIV a, b, lal = 1, |b] =2, a- b = 1. % e HPHIEEBAE, T
|A7L+1A7L+2|7 A4n 7& 44n+2; ne N*~, |Ban+1| = |Bn+an+2|~, Bn 7é Bn+27 |a . el + |b6‘ E"]E‘ijﬁfﬁ%i
n €N (P#QFrWPHQAER) A d= 4B S N _ R
= —_ (=
A147LBnB1H»1 E"][ﬁ]ﬂ]\y J”\U ( )
Apis 16. £ AABC /3, NF A, B, C iR 514 a, b, ¢. B b+c = 2acos B.
A (1) JEHH: A =2B;
(2) 4 cosB = % 3R cos C HH.
o\ 8N -
By By By -+ Ban+1
(A) {Sn} BEFZEA (B) {83} A2
(C) {dn} BFHEED (D) {d2} RGEHH
. HETE
9. JLJLARM =R S Brs (B cm), WZJUAMER R BUZ
em?, RBUE_ cm®.
2 2 2 2
2
2 5
EHAE RSeS|
e 17. 85 {an} HIRT n RN S, TV So =4, anyr = 25, +1, n € N*.
10. Ol a € R, 7R a2a? + (a+2)y? + 4o + Sy + 5a = 0 FERE, W FLAE (1) RABIHLL an; ‘
TR R (2) SREA {|an —n — 2[} KTHT n B
11. B4 2cos’x +sin2r = Asin(wr+¢)+ B (A > 0), Il A = ,
B=
12, BEEL f () = 2 +302+1, BHTa £0, A f (@)= f (a) = (¢ — b) (¢ — a)?,
reR, MITHa=___ b=___
2
13 B o2 — L = 1 Ze, BRI Fr, B, #505 PAESUZ, I, B
ARPE, AFM=MF, W PR+ |[PF| MIBUEEERZ .
14. WA, EAFEAE ABCD, AB = BC =3, CD =1, AD = /5,

ZADC = 90°. JVEZ AC 44 AACD B AACD, B4 AC Y5 BD/
A Az s EE
p U
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18. A, 1 —#s5s ABC—DEF th, 6 BCFE L Fi ABC, ZACB = 90°,  19. W&, $E2s o2 = 2px (p > 0) WY& AN F, s FiYA A 5] y B

20. WERHEL f (x) =2 + ! -, x € [0,1]. B
BE=EF=FC=1, BC =2, AC = 3. PEEEET |AF| — 1. (1)f(£)>1_z+$%‘+1
(1) sRiE: BF L P ACFD; (1) 3k p H1H; o > i ;
(2) Kk BD S ACED Jiifh iR {i. (2) B % AF SHWATH 4 B 0L B 5 o ibmgagmg F . D1/ @<y

AB TEMELLTHE N, AN 5 o #i5c T M. sk M RRAAFRB9EUE

DF VL.
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